
 

 

 
 

 

 
 



 



 

 

 

 
 

 

 
 

 



 

 



 
 

 



 

 

 
 

 
u=1 – l/f 
where u = U/L (unemployment rate)  



 

 
 

 

 
 

 
 



 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

NB: W/P = 1/1+μ  ; Marginal Cost of Labour = W, since Total Cost of Labour = W*L 

 

 

 
 

 

 
 

 



 

 
[Wage Setting: W  = Pe * (1+z-αu) and Price Setting: P = (1+μ) * W. 

In equilibrium Output = potential output and thus P = Expected Price so that P = Pe. Hence, replace price 

Pe in the WS equation with P = (1+μ) * W. Thus, W  = (1+μ) * W * (1+z-αun). Notice that u was 

replaced with un since Y or the level of output (or GDP) equals potential GDP or the Full employment 

level of output (at which unemployment rate is equal its natural rate or un).  

 

W  = (1+μ) * W * (1+z-αun) divide by W and you get: 1 = (1+μ) * (1+z-αun) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

 
 

 
 

 



(Recall that P  = (1+μ) * W and W = Pe * (1+z-αun) so replace W with Pe * (1+z-αun)  to get the 

equation above and  

 

 
So from u = 1 – Y/AL we can see that if Y rises, then u will fall and hence W will rise because W = Pe * 

(1+z-αu) and Price level will rise since the price setting Eqn. P  = (1+μ) * W so that P > Pe when u < un.  

 

When Y = Yn, P=Pe and hence divide Eqn. 5.10 by P to get 1 = (1+ μ) * (1+z-αun).  

 

Recall that Wn is the nominal wage at the natural unemployment rate. Rewrite  PS Eqn. P  = (1+μ) * W 

as Wn/P = 1/1+ μ hence P/Wn = 1+ μ. Next, recall 1 = (1+ μ) * (1+z-αun) or 1+ μ = 1/1+z-αun and equals 

P/Wn . Next, rewrite 1+ μ = 1/1+z-α(1 – Yn/AL). Recall that Wn is the nominal wage at the natural 

unemployment rate. And now we can replace 1+ μ in Equation 5.10 with 1/1+z-α(1 – Yn/AL) 



 



 
 

Figure 5.3 

 

 



 
 

 
 



 

 
 

 

 

 

 



 
 

 
 

 

 

 

 



 
 

 


